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f: y = cos 2x 
 
                                                         
                                  
 
 
 

D(f) = R  
H(f) =  1,1−  

Funkce je – rostoucí na ,
2

k k
π π π − + 

 
 

                – klesající na ,
2

k k
ππ π + 

 
 

                – sudá 
                – není prostá 
                – omezená shora i zdola 
                – má maximum v x = ,k k Zπ ∈  

                – má minimum  v x = ,
2

k k Z
π π+ ∈  

                – periodická s periodou π 
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